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EdCIL - DDA JE (Civil & Elect) Exam

Participant ID:

Participant Name:

[Test Center Name:

[Test Date: 24/04/2018
[Test Time: 12:30 PM - 2:30 PM
Subject: JE CIVIL

Section : Domain

Q.1 Which of the following admixtures is used in concrete in cold regions to enhance concrete’s freeze/thaw resistance?

Ans X 1. Water reducing agent

Question ID :
Status :

9497309744
Answered

X 2. Viscosity modifying agent Chosen Option :4
# 3. Dlasticizers
« 4. Air entraining agent
¢ 2 ! % & fom %l Question ID :9497309712
Ans T]ﬁ-ﬁ; ATAAT Status : Answered
1.
x . Chosen Option : 3
X2 ST ofr
X 3 ol g X g
v
Y & ATEOH ¥ AT dTel 9ld @ JAg &l
Q3 31 C TAdH % k] aﬁﬂ T ﬁﬂ ﬂ X4 ?
"2 T - e A Question ID : 9497309732
Ans x 1. 450 Status : Answered
+ 2 500 Chosen Option : 2
X3 475
K4 510
Q4 i : : - ) s
Which of the following soils are essentially plastic in behavior? U (ST
Ans x ' Boulders Status : Answered
2 2 sand Chosen Option : 4
#< 3 silt
o 4 Clay
Q5 afy Rfre ey wwE [CER = S
- i e R A - Question ID : 9497309709
e x " T 3]?_1' a’_ Y Hedd Status : Answered

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

Chosen Option : 3
X 2 39T (3) JT & WY JYoed
Vo wifem
& 4. e

Q.6 1fD10. D30 and D60 for a soil are respectively 1 mm, 2 mm and S mm, then the coefficient of uniformity is:

Ans Question ID : 9497309742
X 125 Status : Answered
X205 Chosen Option : 4
K32
Vs

Q.7 An engineer wans to design asteel elctri pole of 6 m height with end conditions as one end i resrained against translation

and otation whie the other i fee. The ffective length of colum she should consider while designng ths pole would bes Question ID : 9497309727

Ans x 1. 9m Status : Not Answered
x 2.15m Chosen Option : --

/3 6m
v412m

Q.8  What will be the length (1) of a sedimentation tank if the velocity of flow is 0.2 m/min and the detention period is 6 h?

Ans of 172

Question ID :
Status :

9497309703
Answered

x 2. 10 Chosen Option : 1
<354
K 4 60
Q.9 i : e
The unit mass (kg/cum) of structural steel as prescribed by IS 800 is Question ID - 9497309731
Ans X1 7650 Status : Answered
x 2. 7750 Chosen Option : 4
3 7950
o 4 7850
Q.10 Incase of reinforced cement concrete, the unsupported length between end restraints shall NOT exceed Y times the least
lateral dimension of a column, where Y is: Question ID : 9497309694
Ans X 1. 50 Status : Answered
J 2. 60 Chosen Option :2
X340
X4 30
Q.11 Normally, a geodetic survey is performed if the area to be surveyed is beyond X sq.km, where X is:
Question ID : 9497309724
Ans o 1. 250
Status : Answered
x 2. 150 Chosen Option :1

/3350
K 4 450
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Q.12 el s 456 & 3R, Fh & Bl o Reen oF g $E FEow g SR w1 & X ARw &

Ans

ot ol g e, SE X ¥

<1012
¥2 015
<3 0.10
<4018

Question ID :
Status :
21

Chosen Option

9497309691
Answered

Q.13 n a curve, is the angle of intersection of the tangents is called as:

Ans

1. Degree of curve
X 2. Obtuse angle
/3. Internal angle
+ 4. Deflection angle

Question ID :
Status :
14

Chosen Option

9497309717
Answered

ot g
v 110
72 1333
x4
241000

Question ID :
Status :
Chosen Option :

9497309749
Not Answered

Q.15 In a stiffness method, the number of unknowns to be determined are termed as:

+ 1. Kinematic indeterminacy
2. Unstead indeterminacy
/3. Static indeterminacy

X 4. Steady indeterminacy

Question ID :
Status :

Chosen Option : 3

9497309674
Answered

Q.16 Incase of reinforced cement concrete wall design, the ratio of effective height to thickness, shall be limited to:

Ans

X120
V2 30
X3 35
K425

Question ID :
Status :
12

Chosen Option

9497309688
Answered

Q.17 Which of the following process take place during biochemical treatment of sewage effluents?

Ans

# 1. Carbonation
X 2. Hydration
3 Oxidation
# 4. Reduction

Question ID :
Status :
2

Chosen Option

9497309706
Answered

Q.18 Ifthe dosage of Alum s 15 mg/l, then the estimated quantity of Alum required (MT) for 10 million liter of water per day

Ans

Q.14 40 5 o T w7 7w B 3 AT @R AT 30 AT @ & 5% ¥ & fav A
Ans
Ans

wil be:

Question ID :

9497309702
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x 10.015 Status : Not Answered
«. 2. 0.15 Chosen Option : ==

<315

<415

O emy Y afer & T a5 BT 2l Question ID :9497309713

Status : Answered

A p :
ne « 1. T Q?ZITSﬁ' Chosen Option :1
X2 gy ymait

3 &
Fae i oy
X 4 gut Yarat
Status : Not Answered
X 2120 Chosen Option : -
23240
X 4. 360
Q.21 Which of the following is NOT an advantage of grid-iron method of layout of pipe distribution?
Ans " - Question ID : 9497309701
7< 1. Affects small areas in case of repairs Status : Answered
#< 2. Not liable to pollution Clirzzem Ciptiem 5
# 3. Minimal head loss
o 4 1t is very inexpensive
Q.22 Which of the following is NOT used as a field method of assessing soil compaction?
Question ID : 9497309737
Ans X 1. Nuclear density meter Status : Answered
Chosen Option :1
X 2. Rubber balloon method q

#< 3. Sand replacement method
4. Direct shear test

Q.23 The acceptable limit of total hardness (as CaCO; ) as per the Indian standard is: .
Question ID : 9497309704
Ans X1 250 Status : Not Answered
{' 2. 200 Chosen Option : -

#3100
#4150

Q.24 A catchment area consists of 5 Hectares of gardens (impermeabilty factor = 0.2) and $ Hectares of
factor = 0.1). What will be the average impermeability factor for this area? QUeS(IOr‘I ID: 9497309700
Ans X1 0.25 Status : Not Answered
«' 2. 0.15 Chosen Option : ==

Q.20 Itk fined strength of a saturated clay is 360 kPa, then its estimated strength (kPa) would be:
Ans { 180 Question ID : 9497309733
1.
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< 3 0.10
X 4020

azs icro - ior H_’L‘_," e %"’ Question ID : 9497309684

Status : Answered

Ans X 1. eee Chosen Option :3
X 2 g@Tee
X 3 FETESTET
vt

Q.26 37 8 FeT Rl X B @ g ¥ o & e A ge F & wgeen T (Re) F@ aem

A Question ID : 9497309697
ns X 114 Status : Answered
x 2.5 Chosen Option : 2

V'3 21
<428

Q.27 n case of stecl design, the minimum value of sress, below which not more than a specified percentage (usually § percent)
of corresponding stresses of samples tested are expected to occur s called as: Question ID : 9497309729

Ans X 1. Plastic limit Status : Answered
Chosen Option : 2

#< 2. Characteristic load
# 3. Rupture load

+ 4 Characteristic yield

Q.28 20 (arEw) 3y 25 (3rfcfer) efietex @ &t T # ot F 32 Pl e & el que gER A

AT ¥ T A R s () EE LR ] Question ID : 9497309726
Ans l 1. 300 Status : Answered
Chosen Option : 1
# 2 960
#3640
X 4 480
Q.29 wAdem & Furw R, serd-aem R &1 gomm & Feefofle @i Reed # & 389 sromr 45 g &
A Question ID : 9497309719
ns
& 1. TOTAT T HTELTET Status : Not Answered
x 2. ®H UFH Chosen Option : --

X3 Afg-dgar
v o R ghear g

Q.30 Ina properly adjusted dumpy level, which of the following relationships are NOT desired? )
Question ID : 9497309716

Ans
x 1 Status : Answered

Horizontal cross hair should fie in a plane perpendicular to the Vertical axis, so that it will lie in a Horizontal plane when the
instrument is properly leveled. Chosen Option : 4
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X2

Axtis of the level tube is perpendicular to the Vertical axis.

X3
The Line of sight is parallel to the axis of the level tube.
v

The vertical axis is non-perpendicular to axis of level tube.

Q.31 el Woie Fe & Fw &, T RRE @ S & s caw AT oF & e s R s

Ans Question ID : 9497309693
x 1. 28 m Status : Answered
Chosen Option : 3
72 30 TR
/3 32 TR
v 4 36 i
Q.32 The acceptable minimum pH of drinking water per Indian standard is: )
Question ID : 9497309705
Ans 1. 7.5 Status : Answered
{' 2. 6.5 Chosen Option : 4
K36
X7
Q.33 Which of the following soil behaviors is explained using spring analogy? .
Question ID : 9497309735
Ans ! Slope stability Status : Not Answered
= Chosen Option : ==
X2 Shrinkage
#< 3. Compaction
v 4. Consolidation
Q.34 hich ted by wood constant condition of temper bumidity, is known as:
Ans 4 Question ID : 9497309685
X 1. Tempering Status : Answered
+ 2. Equilibrium moisture content GiEeeE e
# 3. Seasoning
# 4 Optimum moisture content
Q.35 et &f & Fid GRS T e & v wHeA H T smwr 74 82
i Question ID : 9497309728
Ans .0 g:iTR' e CE Status : Answered
) )
Chosen Option : 2
V2 g

X3 g fawaoT
X Fify Rsea
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Q.36 3 e T Reem & ST S A 220,65 Fhtere @ A SeTRE A (e s ) F9T @
Ans  of 1300
#2200

Question ID : 9497309708
Status : Answered
Chosen Option : 1

#3100
#4400

Q.37 uf flt Sl 1 T wwed 50 AT @ @ ST Fow 456 & HOR, A S
W e ¥ =aT A ¥

Ans x1_ 36
V249

Question ID : 9497309698
Status : Answered
Chosen Option : 1

<381
K464

Q.38 Is 383 & 3R, M-Fedr e s & BT Fewd & ST AW A wwE @@ (%) 74§

ans X130
V2 50

Question ID : 9497309747
Status : Answered
Chosen Option : 1

X320
X+ 40

Q.39 Which of the following will you recommend for painting internal wall?

Ans o 1. Enamel

# 2. Emulsion

Question ID : 9497309682
Status : Answered
Chosen Option : 2

#< 3. Lead oxide
& 4 Iron oxide

Q40 R & F #ia & Al @fEa F TR G F BT e 70T §2
Ans x1_
Ty T wEE waAEn 3R TR 2§

Question ID : 9497309673
Status : Answered
Chosen Option : 4

X2
T 97 @R 9T (A1E) sheer i @ R

X o TAW HRfEE gfoEe F g A
v 4 T F AR i g §

Q.41 Which of the following is a mis-interpreted disadvantage of plane table surveying?

Ans X 1. Unsuitable for wet climate

W 2 1t is very costly

Question ID :9497309720
Status : Answered
Chosen Option : 3

#< 3. It is not intended for accurate works
/< 4. Tt is difficult to carry
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Q.42 A fowin which atany pint i the flowing fvd various haractrstics suchasthe velociy,pessur, density emperatre, tc.
e Question ID : 9497309714
Ans X 1. Uniform flow Status : Answered
{' 2 Steady flow Chosen Option : 2

< 3. Non-uniform flow

X 4 Unsteady flow

Q.43 SR Ao 456 & AR, FYFAH SehadT & T i Ty B &, wgeew X ity # g F
T B rEA Erd 500 i AREE RAU0 & A @ AT, X # Question ID : 9497309695
Ans « .20 Status : Answered
Chosen Option : 2
K225
X315
<410
Q.44 =7 T et e s F e R e a5 & Ty sEe fr e 31
Ans ; . Question ID : 9497309690
X HIFISA CIGEE] Status : Answered
. Chosen Option : 1
X2 "FEa A
V'3 gEr SE

XK« TEN (5T) TF

Q45 =8 i drie
Sl 33, STl SR T 3 R T Question ID : 9497309750

Ans x 1. m Status : Answered

Chosen Option : 4

& 2. et amaae
X 3 HIasA
Vo T

Q.46 Which of the following oxides dominate ordinary portland cement? A Ry=ary . W
y x 1. Iron Status : Answered
X 2. Aluminium Chosen Option : 4
v 5 Calcium
& 4. Magnesium

Q47 The characteristic strength of concrete is measured at: Question ID : 9497309746

Ans X 1. 14 days Status : Answered
Chosen Option : 3

< 2. 7 days
o 3. 28 days
& 4. 3 days
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Q.48 T T 3 O OO FE TEET ¥ A ST 9K st # & 39 e s H617

A Question ID : 9497309683
ns -
”< 1 HITATAT Status : Answered
Chosen Option : 4
X 2 ¥qree i
X 5 IAET
Vi
Q.49 s . SR s T
‘What will be the porosity of a soil if its void ratio is 37 Question 1D : 9497309740
Ans (1. 1.5 Status : Answered
Chosen Option : 4
K2175
<3133
V4 075
Q.50 o @ 2 m war$ F v S A () S R | TE AT B ARG 60 mm AR 3R A )
T 1=6x10°mm* F7 Wrger T4 3fwee TRede oar ¥ 7R TR=d 100 N/sqmm & GUA aet Question ID :9497309672
e s S AR s () A e Status : Not Answered

Ans X" 1. 2000 Chosen Option : -
# 21500
#3500
41000
Question ID : 9497309745
Ans X1 7 Status : Answered
K24 Chosen Option : 1
X35
Ve
Q.52 Animigation channel is to be designed to carry a flow of 30 cum/s with a velocity of 1.5 m/s. The area (sq.m) of flow
section shall be: Question ID : 9497309710
Ans  of 1. 20 Status : Answered
X 2. 45 Chosen Option : 1
#3450
x4 30
Q.53 7 Ty &, 7Er & AewH ¥ T F I w1 AH wEeA e gan R B ar
A Question ID : 9497309736
ns
“ 1 §T\|ﬂ' Status : Answered

X2 wged
X 3 TemEaT

X o FETa

Chosen Option

g9

Q.51 Indian standard limits the pH of water used for concrete making to:
I
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Q.54 =i far e 7 geaE e 1000 RrEH/G He AR g A A 1 e dEsE #e @

A s eI s (39 HeveE) F @ Question ID : 9497309715
Ans ( 1.0.001 Status : Answered
" Chosen Option : 2
# 2 0.01
F
K401
Q.55 Ifthe maximun flow of sewage is 0.314 cums, then the diameter (m) ofthe rising main, carrying sewage at 1 m/s would
iy Question ID : 9497309699
Ans I 1.0.63 Status : Not Answered
x 2. 0.72 Chosen Option : --
X 3.0.66
X 4.0.58
Q.56 YRw w7 & Sy wwe & B, B # F # T R ww § B o awd aw e R
T w §, T e R o & e g 2 Question ID : 9497309675
Status : Not Answered

A X 1. ST @ afd Rei
X 2 Hede INEIRE AEa
Vo HqE sEer e
74 FeeRaaer @ guRm e

Chosen Option :

Q.57 e & ¥ fF & fdor & QeR-FIEiRE e de@ifar & gaeT Har s £

) Question ID : 9497309751
Ans o 1. arer Status : Answered
. Chosen Option : 3
X2 sErmE
X T
X 4 SARE
Q.58 What will be the shear modulus of the material with elastic modulus of 240 GPa and Poisson's ratio s 0.27
Ans Question ID : 9497309679
X 180 Status : Answered
x 2. 60 Chosen Option : 4
<3120
v 4100
Q.59 uf R she ot T s @ w7 @ @ 8 Hex ARy wHE vafE S
() & fore FeahR RET AwEE # T A S T Question ID : 9497309696
Ans x 1. 26 Status : Answered
) Chosen Option : 2
V2 20

<314
X7
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Q60 Bitumen is graded by viscosity at T °C, where T is:
Ans x 1. 50

Question ID :
Status :
Chosen Option :

9497309686
Not Answered

X270
<340
v 4 60

Q.61 o & & feohrs 3k o THT T TAE T TR FhiE T 3 FAT 2

Ane X sftr dnfe AT

Question ID
Status :

19497309743

Answered

<2 CL

Chosen Option :

'3 ML

Chosen Option : 3
X 2 Foaa AOFaH TH=AT HER
V'3 T aErEEar
& 4 A AEHA FT 3T
Q.62 T THeT F T F W B
T # L FET FROT T A 82 Question D : 9497309722
Ans Status : Answered
1. PreT T ekl gl
x L3 Chosen Option : 2
X 2. 3aeitehad HeEA H STIERT
Y &
T 39 dlecdl faegd T H Asidi W ST
X4 Tem Y WIE F ILARR T g
Q.63 = FT TR T W@ A @A ¥ A AR T e W E $ Yot e # e
Rl g=iedr a1 ¥ Question ID : 9497309718
Ans x 1. ?ﬂﬂ' Status : Answered
Chosen Option : 4
X2
X 3. THHATA T
o« HAJ T°5
Q.64 Which of the following equipment/ method is used for estimating soundness of a cement?
A Question ID : 9497309687
ns
/1. Kelly ball Status : Answered
# 2. Marsh flow cone e
2 3. Abrams’ slump cone
' 4 TeChatelier
Q.65 =fx 7Er H e WA 40% HR coRe AT GaH 12% ¥ A W FeT F oy G Fper AT SN2
A Question ID : 9497309738
ns
X 1. MH Status : Not Answered
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El
3

X2 0013x =
EI

3

X3, 1
OOZIXEI

3

X4 0125x =
El

Q.71 Iatheodolite, the line joining the optical center of the object glass to center of the eyepiece is called as:

Ans X' 1. Axis of level tube

Question ID : 9497309721

K4 CH
Q.66 A continuous beam will be classified as a deep beam if the ratio of effective span to overall depth is below:
Ans Question ID : 9497309689
x 12.75 Status : Not Answered
X 2. 2.25 Chosen Option : ==
'3 250
X 4 2.00
Q.67 For which of the following members subjected to bending, there can be a point of contraflexure?
Ans . Question ID : 9497309676
' 1. Beam fixed at both ends S S ATETEE]
# 2. A simply supported beam Chosen Option : 1
# 3. Cantilever beam
X
Cantilever beam with heavy point load at the end
Q.68 What will be the shear force for a section where the bending moment is constant?
Question ID : 9497309677
Ans 1. An increasing value of shear Status : Answered
2 Chosen Option : 3
# 2. A non-negative constant P
o 3 Zero
# 4 A decreasing value of shear
Q.69 : 5 . : . -
‘Which of the following soils have the highest impermeability? Question ID : 9497309739
Ans  of 1 gilt Status : Answered
: Chosen Option :1
# 2. Fine sand P
# 3. Cobbles
& 4 Coarse sand
Q.70 A cantilever beam of effective length 1 is Toad P at the free end. If Eand], then the
ey el e o Question 1D : 9497309678
Ans 3 5
“ 1 s Status : Not Answered
033X — Chosen Option : -

Status : Answered

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

X 2. QTeTar

« 2. Axis of telescope Clzn it es
3. Vertical axis
X 4 Horizontal axis
Q72 gafag dde S8 e =
e ¥ fa, SRRl Sl — Question ID : 9497309692
Ans v 50 fEehereT Status : Answered
Chosen Option : 2
<2 40 TR
/3 60 AT
24 70 fEeEeT
Q.73 Itisthe property of the material or a structure indicating the extent to which it can deform beyond the limit of yield
deformation before failure or fracture is termed as: Question ID : 9497309730
Ans v Ductility Status : Answered
Z Chosen Option : 3
#< 2. Brittleness
# 3. Slenderness ratio
2 4. Aspect ratio
Q.74 Which of the following stiffners is used to prevent local crushing of the web due to concentrated loading?
Ans . 2 Question ID : 9497309725
« 1. Bearmg Status : Answered
X 2 Diagonal Chosen Option : 2
#< 3. Torsional
# 4 Load carrying
Q.75 What will be the coefficient of discharge if the theoretical discharge of a pump is 25 Us and actual is 20 Us?
Ans x Question ID : 9497309707
1.4 Status : Answered
J 2. 0.8 Chosen Option : 3
X312
X4
Q76 i 5 § i o
‘What is the specific gravity of ordinary portland cement? Question ID : 9497309680
Ans  of 1315 Status : Answered
x 2.3.10 Chosen Option : 1
23 3.00
X4 0317
Q.77 fr=fefEa & ¥ #i7 @7 TWes FHe A FgElag gHEar Y wg Far?
= i 2 2 L Question ID : 9497309748
Ans 5, FEFT et Status : Answered
Chosen Option : 3
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Q.78 When a fluid mass rotates without any external force being impressed on it, then it is called as:

Ans o 1. Free vortex motion

& 2. Forced vortex motion

2 3. Cyclone
#< 4 Turbulence

Question ID : 9497309711
Status : Answered
Chosen Option : 1

Q.79 The horizontal angle between the true meridian and a line is called as:

Ans  of 1 Azimuth

/< 2. Magnetic meridian

Question ID : 9497309723
Status : Answered
Chosen Option : 1

/< 3. Arbitrary meridian
/< 4 Magnetic bearing

Q.80 Which of the following assumptions is NOT true per Terzaghi's bearing capacity theory?
Ans  of 1 Base of the footing is smooth

~ 2

Question ID : 9497309734
Status : Answered
Chosen Option : 1

Depth of foundation is less than or equal to its width
< 3. Load applied in vertical and non-eccentric

#< 4. Soil is isotropic and homogeneous

Section : Reasoning

Q1 Find the value of (?) in the series.

236, TIA RS, 7. 8

Question ID : 9497309753
Status : Answered
Chosen Option : 3

Ans X 1. 446
X 2177
o 3 445
K 4176

.2 Aperson walks 10 km towards South and then 5 km towards North and then 12 km towards East. How far away and in
which direction s he with reference to his starting point?

Ans o 1. 13 km, South East
/< 2. 12 km, North

Question ID : 9497309758
Status : Answered
Chosen Option : 1

< 3. 12 km, North East
#< 4. 10 km, East

Q.3 wh st 7 w4, 'Tﬂﬂﬁ#sﬁﬁﬁ?ﬂ?ﬂm%rnmwTﬂmmh[

Question ID : 9497309752
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Ans of | TEL
X2 ofy
X o R
X s

Status : Answered
Chosen Option : 1

Q.4 ©F FT T F ‘please come here’ F ‘dc ba fe' G ST ¥, ‘go out please’ F 'ba hg ji fr@T ST ¥
T ‘come and go’ F Ik de hg' AT ST ¥ 3 FT s A ‘our W TR B FmT?

Ans X1 ba
v ji
X3 fe
<4k

Question ID : 9497309757
Status : Answered
Chosen Option : 2

Q5 v Fu auw 3w Fo fred @ e T

Fw: PN AN I TT - A F F@EET DR R
fewd: | g Fr aRer ¥ S S weew § A 3
II. T5E-B # TT-A F goar # e T g8
Ill. T=T-A & FEIET T F1 SR FH T §
Tt frshdt & & P @/d freed afes w7 & RE 770 Foa 1 o AR 82

Ans X1 3R 1l T et R
X2 | 3R @ g =T F
V5 T o ey I FET AT 2
X4 e ||l O HIT B

Question ID : 9497309761
Status : Answered
Chosen Option : 2

Q6 Ry oIT WERw & YR W, g 0eg AU H
freredr 1 oiger : Freedr ;e ?
Ans 3¢ 1. oedll
< 2. grefr
X 3 fagor
4 e

Question ID : 9497309754
Status : Answered
Chosen Option : 4

Q7 Find the value of ‘k’ in the given table.

88 | 120] 156
8 | k| 10
14 | 15 | 16
Ans X110

X211

Question ID : 9497309759
Status : Answered
Chosen Option : 3
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39
X7

Qs : ; .
T 717 el 5 v wie wgwA # emEitd S Question ID :9497309755

Status : Answered
Chosen Option : 4

1. 317 2. &9 3. 799 4. 777 5. FT 6. TEA
Ans x1.6,3,2 1,5, 4

721,243 5,6

X36,5213 4

v42 45 31,6

Q.9 wF ¥ A, 10 T F 0T qU 16 T F FA 4G T & w5 A wEw, 15 79 40 a7 T WS
#r w5 50% ¥ 15 T ¥ i g ATy ey # wEwr 180 ¥ wSfRA Ay Twar w AR Question ID :9497309756

# T F 0% §1 T F wr Fr wer ww w Status : Answered

Ans X 1. 60 Chosen Option :3
2 50
V'3 30
< 4 BB

Q.10 = T & 65% WNT 9T THE HA & 30% WNT FET THE aS § qur 25% W A e A §
3 Sl e ¥, S A A s Ak A & Hfr wwe aa Question ID : 9497309760

Ans X 1. 359 Status : Answered
Chosen Option : 4
V2 30%
X3 25%
<4 20%

Section : Quantitative Aptitude

Q.1 = faffem s Tl 2 w6t & weReT w3 TR s w2 1,200 3R 2 1,236 ¥ @ S
A & 7 Bl Question ID : 9497309764
Ans X 1. 8% Status : Not Answered
Chosen Option : --
V2 6%
X3 4%
<4 10%
Q2 33y e 3R 121 R AT @ AT e & 10 el &7 2T 7 RS
w9 gﬁ = Question ID : 9497309769
Ans K 1. 850 Status : Answered
x 2. 830 Chosen Option : 4
<3725
V4 620

Q.3 [ ]
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R TAEOT 827 — 222 =21 & HAl H AL A Hfer
Ans 3

Krg,==

Question ID : 9497309771
Status : Answered
Chosen Option : 4

Ko _Z
X3 7,11

3
f 4. =
4

Q.4 T TG T 5E FT AT F 20% 0 70 i A T o AR sife Aew X 20% A e & v E
T gl SR W A

Ans X1 o TS o BT

Question ID : 9497309765
Status : Answered
Chosen Option : 2

2 49 gt
73 8% =T
< 4 10% <TsT

Q.5 From the top of a cliff, the angle of depression of an object at a distance of 25 m on the ground from the cliffis 45°, Find
the height of the cliff

Ans X 1. 253 m

Question ID : 9497309770
Status : Answered
Chosen Option : 4

25
XZ- ﬁm

/3 125m
¥4 25m

Q.6 T T 5 20 T F 20% aE ¥ A A T ¥ AR g 4 Fex T S Brer R e ¥ A
frsior & gamé @ sfed W A

Ans X 1.16.75%
< 2 16.33%

Question ID : 9497309766
Status : Answered
Chosen Option : 4

X3 16.5%
v 16.67%

Q.7 P gl & am s w10 Bl o gor & T F AR gE I o F 12 Bl 9 g F 9w @ aw
FAT & T G A 11 Wi F TS AP GER FW AT G g e Ao

Ans o 1120 RRar

Question ID : 9497309767
Status : Answered
Chosen Option :1

<2100 sl
<3115 &l
A4 110 foratr

8, 16 3R 26 F1 wF T E7

Question ID : 9497309763
Status : Answered
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Ans X1 54
X2 57
'3 B2
74 48

Chosen Option :

Q.9 = FEmsd & AET. 355 AT F 6 T & IR A Tewt F awT. A AT F A 350 ¥ Fur
0 T wEr 100 ¥, gEl dEw A A

Ans X' 1175
X2 125
V'3 150
< 4 200

Question ID :
Status :
Chosen Option :

9497309762
Not Answered

Q.10 A tap can fill a tank in half an hour. A leakage is capable of emptying the tank in one and half hour. If both are active
simultaneously, in how much time will the tank be filled in?

Ans X 1. 55 minutes
& 2. 40 minutes
# 3. 60 minutes
v 4 45 minutes

Section : General Awareness

Q1 Craffae & i o, 3w Fedt 591 &1 v deeTs A9 a9 22

Question ID :
Status :
Chosen Option :

9497309768
Answered
2

Question ID : 9497309777
Ans X1 FeldlAT Status : Answered
2 Chosen Option : 1
V' 2 iz
Ko fease
X4 g;ﬂ'-a"a'
Q2 5 i s
Who was the first Indian Governor of the Reserve Bank of India? Question ID : 9497309772
Ans  of 1. C.D. Deshmukh Status : Not Answered
# 2. Nanabhoy Palkhivala IEEPn Option :
X 3. Benegal Rama Rau
X 4. C.Rajagopalachari
Q3
HRT 1 9UH ARG 8 AT ST 82 Question ID : 9497309778
Status : Answered
Ans 1. Ir=a9Ter
X Chosen Option : 2

o 2 gregaty
A5 g
<4 FgreAT Tedr
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Q4 -
e Al T & T Sga gt areT gEr e e 32 Question ID : 9497309781
Ans X1 e FAGAECI Status : Answered
Chosen Option : 4
X2 e
v 5 rEdEET
X 4. TIESETETST
Q.5 Which of the following recently launched satellite, lost the contact with ISRO? .
Question ID :9497309773
Ans x 1. GSAT-8 Status : Answered
x 2. GSAT-7 Chosen Option : 2
o 5 GSAT-6A
X 4 INSAT-4B
Qs . 7
AT FT 9gaT O # F3T FgT Wier T[4T AaT? Question ID : 9497309774
Ans & Status : Answered
PR = E!é Chosen Option : 1
2 fEeErE
X3 JiEmeeET
X 4 FETIT
Q7 eyt # :
# F-H 31 % WAG H T agAed U1 T L2 Question ID : 9497309780
Ans x 1. Fm Stafus:Not Answered
Chosen Option : --
X2 MEw
<o AfzTw
v 4. TegTRETH
=
Q.8
9T & fsmee Fr oo Fae fre Question ID :9497309775
Ans ﬁ L é + Status : Answered
l 1. 3 m Chosen Option : 3
X 2 AlgFAS 3o oo
<3 FgIcAT T
K 4 ofEg FaTET 9 AEE
Q9 .
9UH U GHAGH 35 FiF @ Question ID : 9497309776
Ans Status : Answered

X EEEE

Chosen Option

1
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K 2 3rEaE

i

v owEEE
o e qﬁEﬁEF Fremer 3 semeltar st 7 srezr e ST 2" Question ID : 9497309779
Ans X1 @m chosen 2::;: ;-rfot Answered

X2 vER

X 5 St

v ¢ TrgrErsh

Section : English Language

Q.1 Ifyourise very high in life through means, you must be prepared to fall anytime.
Question ID : 9497309783
Ans X1 sincere
Status : Answered
x 2. unbiased Chosen Option : 3
v 5. unfair
< 4 faithful
Q.2 Reamange the given senfences in the most appropriate sequence to form a meaningful paragraph.
K - As a result, while downloading mobile applications, we allow access to personal data more than what is required by Question ID : 9497309791
the application.
L - As such, we never bother about online security. Status : Answered
M - Therefore, it is better to know application based cyber security threats before it is too late. .
N - We recklessly agree to the terms & conditions for all online downloads and sign-ups Chosen Option : 2

Ans X' 1. KNLM
« 2 NLKM
X 3. LMKN
< 4 MENL

Q.3 From the given pairs of words, select the one which does not have the same meaning.

A Question ID : 9497309787
' X L Tardy, Slow Status : Not Answered

Chosen Option : ==

X 2. Ephemeral, Temporary

Vs Temperate, Excessive
X 4. Fearful, Timid

Q4
Question ID : 9497309785

Status : Answered
Chosen Option : 4
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Make a meaningful sentence from the following.
P : grievances you must
Q : own management first
R : if you have
S : lay them before your
The correct order is:
Ans 1 RQSP
/< 2 QPSR
X 3. SQRP
o 2 RPSQ

Status : Answered

‘At sixes and sevens® Chosen Option : 4

Ans 1. Accessible
# 2. Going strong
' 3. In disorder
# 4. In moderation

Q.6 The following sentence contains an error. Find the part of the sentence which contains the etror.
Question ID : 9497309784
Status : Answered
Chosen Option : 3

This time (1) / he planned (2) / the event most (3)/ wisely than (4) / before.
Ans 51 (2)

Xz (1)

X (@

Vi (3)

Q7 3 !
Find the mis-spelt word. Question ID : 9497309788

Ags x 1. Minuscule Status : Not Answered
Chosen Option : --

& 2. Deceive
< 3. Bellwether
+ 4 Liaision

Q.8 Administrative Systems put in place by any Government are to be .

Question ID : 9497309782

Ans X 1. jneffective Status : Answered
«' 2. efficient Chosen Option : 1

X 3. wearying

Q5 Select the meaning of the given phrase / idiom. et B AT
X 4. political
Ir
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Q.9 From the given pairs of words. select the one which has the same meaning.
Ans X 1. Negligent, Solicitous
/< 2. Changing, Steadfast

Question ID : 9497309786
Status : Answered
Chosen Option : 4

#< 3. Subservient, Bullying
« 2 Unsuitable, Improper

Q10 Change the verb into passive voice.

‘He will oblige me to go.’
Ans

Question ID : 9497309790
Status : Answered
Chosen Option : 3

# 1. Twill oblige him to go.

X 2. Twould feel obliged to go.
+ 5 1 shall be obliged by him to go.
/< 4. Let me be obliged to go.
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